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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Describe in brief about nitrogen cycle. How many 

types of bacteria are involved in this cycle ? 

ukbVªkstu pØ dk la{ksi esa o.kZu dhft,A bl pØ esa fdrus 

izdkj ds thok.kq Hkkx ysrs gSa \ 

2. Write an essay on flow of energy in ecosystem. 

ikfjfLFkfrd rU= esa ÅtkZ dk izokg ij ,d fucU/k fyf[k,A 

3. Explain in detail about the origin, botanical characters, 

cultivation and uses of wheat. 

xsgw¡ dh mRifŸk] okuLifrd y{k.k] mxkus ds rjhds ,oa 

mi;ksx ds ckjs esa foLrkj ls crkb,A 

4. Describe in brief about different types of edible oils 

and explain their economic importance. 

fofHkUu izdkj ds [kk| rsyksa ds ckjs esa laf{kIr esa o.kZu 

dhft, ,oa muds vkfFkZd egRo ds ckjs esa o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between carbon cycle and phosphorus 

cycle. 

dkcZu pØ ,oa QkWLQksjl pØ esa vUrj crkb,A 
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2. What do you mean by biotic components ? 

tSfod ?kVdksa ls vki D;k le>rs gSa \ 

3. Differentiate between pyramid of biomass and pyramid 

of energy. 

tho&Hkkj dk dks.k&Lrwi ,oa lafpr ÅtkZ dk dks.k&Lrwi esa 

vUrj crkb,A 

4. What do you mean by relationship among organisms ? 

thoksa esa vkilh lEcU/k ls vki D;k le>rs gSa \ 

5. Discuss about origin, kinds and uses of Rice. 

pkoy dh mRifŸk] izdkj ,oa mi;ksxksa ds ckjs esa crkb,A 

6. Write a brief note on Mango or Banana. 

vke ;k dsys ij ,d laf{kIr fVIi.kh fyf[k,A 

7. Write down the name of any five improved varieties of 

Rice. 

pkoy dh fdUgha ik¡p mUur fdLeksa ds uke fyf[k,A 

8. Discuss in brief about the processing of Jute. 

twV dh lalk/ku fof/k ij ,d laf{kIr fVIi.kh fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right answer : 

lgh mŸkj pqfu;s % 

1. In the topmost layer of marine ecosystem are found : 

(a) Plankton 

(b) Nekton 

(c) Benthons 

(d) None of the above 

leqnzh ikfjfLFkfrd ra= ds lcls Åij okys Lrj esa gksrs  

gSa % 

¼v½ Iyod 

¼c½ rj.kd 

¼l½ furydj 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. Syn-ecology refers to the study of : 

(a) A population of species growing together 

(b) Animals  

(c) Plants 

(d) Microbes 
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leqnk;&ikfjfLFkfrdh vafdr djrh gS % 

¼v½ ,d iztkfr dh tula[;k dks tks ,d lkFk jgdj 

fodflr gksrh gS 

¼c½ tkuojksa dks  

¼l½ ikS/kksa dks 

¼n½ lw{ethok.kqvksa dks 

3. Which one of the following is extracted from seeds of 

maize ? 

(a) Zeatin 

(b) Thyamine 

(c) Lysine 

(d) All of the above 

eDdk ds nkus ls fudkyk tkrk gS % 

¼v½ thVhu 

¼c½ Fkk;ehu 

¼l½ ykbflu 

¼n½ mi;qZDr lHkh 

4. Coconut is made available from which plant ? 

(a) Cocos nucifera 

(b) Cannabis sativa 

(c) Saccharum munja 

(d) Gossypium sp. 

ukfj;y fuEu esa ls fdl ikS/ks ls izkIr gksrk gS \ 

¼v½ dksdl U;wflQsjk 
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¼c½ dSukfcy lSVkb;k 

¼l½ lSdje eqUtk 

¼n½ xkSlsfi;e iztkfr 

5. Amla belongs to which family ? 

(a) Euphorbiaceae 

(b) Apocyanaceae 

(c) Rubiaceae 

(d) Asteraceae 

vk¡oyk fuEu esa ls fdl dqy ls lEcU/k j[krk gS \ 

¼v½ ;wQksfcZ,lh 

¼c½ ,ikslkbuslh 

¼l½ :fc,lh 

¼n½ ,LVsjslh 

Indicate True/False : 

lR;@vlR; fyf[k, % 

6. Flow of energy is always unidirectional in Ecosystems. 

     (True/False) 

ikfjfLFkfrd ra= esa ÅtkZ dk cgko ges’kk ,d fn’kk esa gksrk 

gSA    ¼lR;@vlR;½ 

7. The final stage of succession is called pioneer 

community.  (True/False) 

vuqØe.k dh vafre voLFkk dks uohu leqnk; dgrs gSaA  

    ¼lR;@vlR;½ 

8. Sal wood is obtained from Shorea robusta tree.  

     (True/False) 
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lky dh ydM+h ‘kksfj;k jkscLVk isM+ ls izkIr gksrh gSA  

    ¼lR;@vlR;½ 

9. Quinine is obtained from bark of Cinchona species.  

     (True/False) 

D;wuhu dks fludksuk isM+ dh Nky ls izkIr fd;k tkrk gSA  

    ¼lR;@vlR;½ 

10. Maize belongs to family Meliaceae. (True/False) 

eDdk fefy,lh ifjokj ls lEcfU/kr gSA ¼lR;@vlR;½ 
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